Algebra | Semester Exam Review
Solve the equation. Justify each step.
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Solve the equation. Determine whether the equation has one solution,
no solution, or infinitely many solutions.
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Find the value of the variable. Then find the angle measures of the polygon.

5. Nwe\.& AUGLE SO = | RO
s ® 5><+x+‘-’lo=-lgo
—+ =18
X T3 =18Q,

Cx = A0 sC
Solve the equation. Q @ T(.- - % =
3 1 =a"~ 3 e
6. 2(d +12) = 5(d - 6) ?jtllg s T I

-,€ o a - .y b-*lZ'-‘-"lS
7. |b-12|=15 ¥ 4ol = -2 - e A ) Y12 w2
A= mWL b= 21 b= -3

Op charges a

8. Your business needs to print brochures. You call two different print shops about prices. Each print sh
set-up fee for preparing the brochure and a price per brochure.
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Solve the inequality. —22__‘@?-?;_‘\2*-4 N .S.
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Solve the inequality. Graph the solution. —Sin —Sw_
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15. You need to earn at least $75. You earn $6 00 for each hour you work. Write and solve an inequality that represents

the number of hours / that you need =5

16. The cost to rent a construction crane is $1500 per day plus $250 per hour
of use. Write and solve an inequality that can be used to determine the maximum number of ho
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Find the domain and range of the function represented by the graph. Determine whether the dOTaNT 1S C gte or
continuous.
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Find the value of x so that f(x) = 3
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Find the x- and y-intercepts of the graph of the linear equation. X~ nt — P\o o for
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The points represented by the table lie on a line. Find the slope of the line.
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! Write a system of linear inequalities represented by the graph.
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